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B, Cam. (Second Semester)
EXAMINATION, May/June, 2017
ACCOUNTING
Paper — 1
BUSINESS MATHEMATICS
Time : Three Hours

Maximum Marks : 85 (For Regular Students)
Mmimum Pass Marks : 29%
Maximum Marks : 100 (For Private Students)
Mmimum Pass Marks : 349
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Attemptall questions.

I W et v 7@ Fifm- Sx5=25/0x5=30

Attempt any five questions—

() I 3 TOEER § = s R 9
What is the difference between Ratio
and Proportion ?

@ FhE w2 e i e w2 )
What is Commission ? Why it is paid ?

(i) 9% &= Fofo F fem a2 o
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(2) 28k

How an invoice is prepared ?

e et w1 o 9 faeand fafad,
Write the meaning and characteristics
of simultaneous equations.
meE @l & ? W fam van fomafag
o w1 W € 2 w

What is Matrix ? How is it arranged ? -
el R ool @ ToT w @ # E
wARAL  hitp://www jiwajionline.com
Explain the process of multiplication
of two matrics.

FET F qET IHAED

Explain the introduction of calculus.
3rggea & faftal fafad)

Write the methods of differentiation
fora gea Td @R qed W AW 3R
717 &1 wfaeE o 0 & ¥ fafe

Write the formulae of profit and loss -

on seIling ﬁrice and cost price. -
Yty w & 2 39 sudn fofem)
What is Linear Programming ? Write

1ts uses.
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A candidate pets

35% of total votes '
the electiop by ¢S and wins

1880 votes. Find the to
: tal
number of voters whovoted (i. e. the number

of votes cast). There are only two candidates
Haar .
‘ (Or)

q ol & affw s g !5 ® AR Y ¥
A A s D3 @ IVE o = w ) o
ST T 2,400 % A0 2,000 7, TF & 7
I I TRy
Tvo fri'ends have their annual incomes in
the‘ ratio of 8 : 5 and their spending in the
ratio of 5 : 3, If they save Rs. 2,400 and Rs,
2,000 p. a. find their incomes.

¥ - I

(Unit - I
TPA fafe g w a- 12/14

IN+3y=17, 3x-2y=6

P.T.0.
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Solve by cross multiplication method-—

2x +3y =17, 3x-2y=6 /
Jgar
(Or)

@aﬁaﬁmvﬁmmw,&mﬁ?
mmﬁ?sﬂfﬂﬂﬂﬂﬁﬁ'ﬂﬁ?

@M 39 15 & FEMA TN YW 30
frq % @ 3@ WA 1,890 % fom mHEw
fea ?

An individual was emploved on the condition
that he will get Rs. 75 for the day he works
and will e (ined Rs. 13 for the day he 1s
absent. After 30 davs he got Re. 1,890 only.
With the help of equation calculate how
many days did he work ?

garé - I

( Unit - I1I)
Lo 3 7 10
= - = E)(a‘i
kS R LS L

AB3R BA® §ed 1 & 12/14

http://www jiwajionline.com

wodautjuotfeamil smm/dny



wod-aurpuotfemil mmam s duy

http://'www jiwajionline.com

(5)
7 10
1 23
IfA= =
A [4 s ﬁ]andﬂ g8 11
9 12
values of AB and BA.
RAqAT
(Or)
A 2 4 6
ar |4 8 -4

T-2578

find the

i

B= 5 10 15

Ad &4
Al 2 4 6
It -4 8 —4
B=[5 10 15}
10 20 -10
find the value of 5A — 2B.
g - IV
(Unit - 1V)
qH qd1A-
34537 x(.7692)*

- Find the value of-

3445.37 x(.7692)°
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Hygat
(On)
T _},-:(1+;c2 +:c3) (3x+5) ! x‘fﬂweﬂ
SaHE FIfd!

Differentiate the function

y=(l+.~:2 +:c3] (3x+5) with respect to x-
g -V
(Unit-V)

UF Ffr WRda w2 5%, Efaat 3§ qdw

CFY 750 T, TOTAR 4 I8 q% WA w2 4

S &) T 3% A 8 aur == wrawe
B 9 9 R oo o rvm wm wW A
% 99 A A S ow wEm 2 12714
A person deposits Rs. 750 per year for 4
years in SBI, Gwalior. If the rate of simple
interest is 3%2% per annum, what sum will
stand to his credit of the end of 4th year ?

HYGT

(Or)
T A 616 T W wEfET & R Q
wEfHe d9@ 21 3 Wk ¥ I@E weet
WERRA W 12% @ R @l GRfEe W
12% =i Bt 81 oo frenat 38 o9 v 2
7 &4, o 3 fead wiowa & 2
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A dealer sells two cycles at a price of Rs. 616
each, In this transaction hc earns a profit of
12%. On one cycle and suffers a loss of 12%
on the other. What is the profit or loss on
the whole and what per cent ?
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